——_v % Thank you for purchasing Rev-A-Shelf spacer kit #4WCTM-SP-KIT.

This kit is to be used with the following top mount waste containers:
4WCTM-12DM1  4WCTM-15DM2  4WCTM-18DM2

4WCTM-12DM1 and 4WCTM-15DM2 are designed to fit inside of a 12” opening.
4WCTM-18DM2 is designAd to fit inside a 15” opening

There is one left side and one right side spacer in this kit. Each spacer is 1 %4 thick. Therefore, if you have
4WCTM-15DM2 (fits a 12" opening) and use the spacer kit, it will now fit inside a 15” opening without any

other modifications. If your cabinet opening is 14 4”, you will need to cut both spacers to the correct thickness.
See examples below.

EXAMPLE 1: 18” base cabinet, 1 %" face frame EXAMPLE 2: 21” base cabinet, 1 %" face frame
Cabinet opening 14 47 Cabinet opening 17 %
4WCTM-15DM2 fits 12” opening 4WCTM-18DM?2 fits 15” opening
1457 - 12"=2 " 1757 -15"=2 4"

2 47 + 2 spacers = 1 %4” per spacer 2 4” =+ 2 spacers = 1 '4” per spacer

Both examples require the spacer thickness to be 1 %4”.

Step 1
Measure the cabinet opening and calculate the spacer thickness, bas

the spacers to the correct thickness.

Step 2
Remove the slide from the left side of the 4WCTM wood frame. First disassemble the slide by depressing the

black trigger release on the inside of the slide. Then extract (2) #8-32 machine screws that are holding the
product member to the wood frame.

Step 3

Assembie the product member portion of the siide -

to the left spacer as shown in Figure 1. Use (2) of FIGURE |
the #8 x 5/8” screws that were provided to screw H Jl

through the slide and into the pilot holes in the

left side spacer. Then re-engage the cabinet EE;\\ e

memher pnfhnn of the ¢lide,

\\\

) a T \-“H\

Step 4 = g,

Repeat steps 2 and 3 for right side. \ \%{x
'\:ﬁ?‘;‘:“g -

g
#8 X 578" )
SCREWS



=

tep
Lay the 4WCTM wood frame face down as shown in Figure 2 and remove the (4) t-nuts.

Step 6
With the AWCTM wood frame rpmmn1no' ace down, |

Fopa T AN
ith the 4WCT) frame remaining face down FIGURE 2 :
drill (4) additional pilot holes to attach the side spacers, %A\\ ' 'I" 2
see Figure 2. Locate each hole approximately 1 %" S
below the hole where the t-nut was removed in step 5. “1-

Drill a 3/16” hole through the frame. ‘//\v %
Step 7 JL\\ (4) PLACES >,./// r
NOTE:- I'F von maodified the thicknace n‘Fﬂ-\e snacer: 11

NOTE: If you modified the thickness of the spacers in
step 1, you will not be able to utilize the pre-drilled W/ﬁ : kgﬁ’;’[éfg
hole (from the t-nut). You will need to driii an SO
additional 4 mounting holes for mounting. We
recommend drilling these mounting holes 1” to the
inside of the t-nut hole. See Figure 2A. _./:?:«.;fh_x
FIGURE 2 e /// ] S
Step g /,’;/’/ )
Lay the 4W(?TM wood frame face down as shown in Figure 3. P ]:,// . :%:f‘ 5
Position the lett side spacer as shown so that both the top and the h.o0" LA~ /7 TR
sides are flush. 4 - B
/"‘~ “ )"4&“6 PILOT HOLE
Step 9 "““H// s R e
Then use (1) #8 x 1 %4” screw that was provided to go through the EU ‘“““mff IRt
t-nut hole and into the pd\'}t hole in the left side Spacer. l\UlJUat for \::i?:“-‘_x
the same t-nut hole in the rear of the frame. Tighten both screws. ‘x:::x_\\ ““Q:\‘:\_H
NOTE: It you drilled holes as described 1n step /, install the #8 x
1 %4” screws into the holes noted in Figure 2A, rather than the t-nut holes.
Step 10
FIGURE 3 rq Attach (2) additional #8 x 1 %4” screws through the
pilot holes drilled in Step 6.

INSTALL (2)

of ST a8 x T 174 2
ALIGN SPACER FLUSH Mo FIRST Step 11
RN & e Y i Attach the right side spacer, similarly as described in
\ . N Steps 8 and 9.

\\ A@\ % Continue on with the Installation Instructions for the

= top mount waste containers with Door Mounting
M W Brackets.




